
高2 共テ演習.doc 49/55 

【共テ演習 7】  

  次の文章を読み，下の問い(A・B)に答えよ。なお，文章の左にある(1)～(6)はパ

ラグラフ(段落)の番号を表している。 

(配点  36) 

(1)  Jill, a university student, is studying to be a medical doctor and she knows she has 

to work hard. However, she also had a dream to be a fiction writer. She wanted to take 

some writing courses, but after considering the amount of homework she would have, 

she decided not to because she would be too busy. Now she can concentrate on her 

medical studies, though she may have some remorse about this decision. 

(2)  Making choices is a part of life. Sometimes, like Jill, we must choose one thing 

instead of another. Her decision involved considering the benefits she might have 

received but had to give up in order to pursue her other plan. What is not chosen is the 

cost of making a decision. In Jill’s case, the cost of her decision was, in part, the things 

that she could have learned if she had participated in writing classes. It may seem 

unnatural for us to think about what we cannot gain rather than the benefits we can get. 

However, this way of thinking shows that a decision to do one thing involves the costs 

of not doing something else. 

(3)  This concept is frequently used in making business decisions. Suppose that a 

Japanese manufacturer, Company X, has successfully produced a new type of robot 

and recorded significant profits. Now the company is thinking of expanding its 

business in one of two ways. One option is to build new factories and branch offices 

overseas to increase its share of the international market (Choice A). The other option 

is to try to strengthen domestic sales by putting more money into advertising (Choice 

B). Although the company might choose either option, what is lost will be different. In 

the case of Choice A, the cost might be decreased sales in Japan. For Choice B, it 

might be missing the chance to make advances into the international market. 

(4)  This concept can be interpreted as a trade-off that requires choosing one option over 

another. A trade-off happens whenever two options are possible but only one can be 

selected. For example, City Y, which has benefited by promoting its famous historical 

spots and beautiful night view to attract tourists, is considering adopting another 

approach by investing more in industry. However, only one choice can be made due to 

a limited budget. If the city carries out its new plan, a trade-off will occur. The 
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economy might be improved through the growth of industry, but the number of tourists 

might decrease. 

(5)  Life is full of situations like this. For example, Takeshi has to decide where to have 

lunch: at a restaurant near his university to enjoy reading or listening to music in a 

comfortable environment, or at the school cafeteria to save time and money. What 

losses would be involved? One would be the loss of time and money if he chooses the 

restaurant. The other would be the loss of an enjoyable, relaxing lunch time if he 

chooses the school cafeteria. Takeshi has to decide what he will sacrifice. 

(6)  We often have to make choices in our daily lives. The decision can be big or small: 

which career we should pursue or how we should spend our free time. Whatever 

choice we make, we will lose something. We can make better decisions by considering 

both what is gained and what is lost. 

 

A  次の問い(問 1～5)の  46  ～  50  に入れるのに最も適当なものを，それぞ

れ下の①～④のうちから一つずつ選べ。 

 

問 1  Which of the following is closest to the meaning of the underlined word remorse 

in paragraph (1)?   46   

①  confidence ②  confusion ③  pride ④  regret 

 

問 2  In paragraphs (1) and (2), Jill   47  . 

①  concluded that she would benefit from both options at the same time 

②  considered the effects of taking writing classes on her academic life 

③  decided to pursue her other plan as she liked writing more than medicine 

④  felt that there would be no advantages from taking writing classes 

 

問 3  According to paragraph (3), which of the following is true?   48   

①  If Company X increases advertising, the expense is not an issue. 

②  If Company X opens a new factory abroad, the expense is higher. 

③  What Company X loses differs depending on the decision it makes. 

④  What Company X loses is a fundamental principle of its business. 
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問 4  According to paragraph (4), what is the likely outcome if City Y attempts the new 

investment direction?   49   

①  Development of its historic district 

②  Establishment of new companies 

③  Increased numbers of visitors 

④  Reduced demands on its budget 

 

問 5  In paragraph (5), what benefits would Takeshi get if he goes to the restaurant?   

50   

①  A closer location and a peaceful atmosphere 

②  A closer location and additional cash 

③  A pleasant time and a peaceful atmosphere 

④  A pleasant time and additional cash 

 

B  次の表は，本文のパラグラフ(段落)の構成と内容をまとめたものである。  51  

～  54  に入れるのに最も適当なものを，下の①～④のうちから一つずつ選び，

表を完成させよ。ただし，同じものを繰り返し選んではいけない。 

 

 
 

①  Connecting the role of choice to daily lives 

②  Explaining choices and decisions in a corporate setting 

③  Looking at choices as life-changing decisions 

④  Relating government decision-making to the cost of a choice 


